2" semester e Xam Review 2014 LB,
ParG I
RabGios. Rates. and proporsions
1. Marie has saved $54. On Wednesday, she spent $3 of her savings. What ratio E}‘l L/—
represents the porfiop of her total savings that she siill has left? L;/l T ! (2
[A] 1:9 ¥7:}8 [C] 1516 D] 89 /
2. Velma needs 4~r feef of fcxbnc to make a costume ( !y p

3. Joey is making punch for a birfhday party. If the punch
requires; 15 quqr’rs of juice, how many golions does it require?

4.1F42 :ﬁches represenfs 2feetin an archilectural model.
How tall would the actudl building be if the model iss 42 mches tall?

(V2 AL
G b (et

5. If fwenfy one pounds of tomatoes cost $84 dollars, how \g@ g L{
much would 18 pounds cost at the same rate? . } 2 ' Hp
ra e

'\ I

6. Tommy bought 5 pounds of assorted chocolates for
$9 65. At this rate, how much would 3 pounds of assorie

chocolates cost? i Eg' f‘*@%‘:f {,QE? ‘éi {)éj [RETIN A

[ St

* C i - ] -
[y 5 \bs 3 Ibs
7‘. Triangle ABC is simiiqr fo triongle XYZ. ) 8. The dEstnce befween ggn Rafael and
Find the perimeter of triangle XYZ. Novato is 20 mites. What would the distance
BN 6in Y in inches be between the two fowns-o e
4in map if the maps scale is: “tVin 2
al__ > 12in 8 0.75 inches,z 5 miles. "l‘!!jﬂ = el
5in A 2.5inches 3|nChes Jﬂu | /1
zZ 4 N
C 25inchss D 100 lnches \f
A 12inches 8 inches
C l5inches D) 45 inches




15. ?eagan is having a parly this weekend. - 16. Kimberly bought 4 notebooks for $6.32.
She can buy soda jn 2 liter bottles or three At the same unil price, how much would she

liter bottles. The fwo- liter of soda cosfs. pay for 5 notebooks?

{ 31 78,'and the three-liter soda cos’rs $2 55, ),
‘Which is the betfer buy? (AT 72 /MW !

/- A $1.58 B $790!i iy
AThe 2-Liter e 3-Liter @ ‘N 4‘12\ j“
7.90 D $7.00 &
; \_ C T!ﬁe Liséteo gq D They re ihe same g[:?
oo ot P4

e
SN Brand sale Rrice
e ran ———Sdle-Rric
17. Tito wants to buy séme peanut butter to donate to /nylNuﬁy /]2 ouncesﬂfor $219 |7
the local fooq panty.. If Tito wants fo save as much (8))Grandma’s 118, dunces 16 $2.79 3« I \0
money as. posétbie whlch brgmd shoufd he buy2 ey C) Bee's k28 ounces ﬁor\zi—f |"’(
BRIGEE ; . A
{ ARVERVE N .A' / 1 DiSave-A-lLof 40 ounces f'cgr $6.60 |47
18.Lexi painted 3 faces in 12 minutes af the Arls and Crafts fai. IQ« 0/ [ 0/
At this rate, how many faces ¢ paint in 40 minutes? \# , ';)ﬁ
\V] ‘V\.; ! i/ "S‘.

19. Froncnh\veﬂ'ﬁﬁmﬁeﬂﬂ 5hours At this rate, how long §i‘g i
will it take him fo drive qnofher 25 mtles to the next fown, ey ;. o

20. A shake can slither about 20.@ "~ 2],The Grove sells three types of
in 4@@3@ AT this speed, how far muffins. Apple Crisp are 3 for $2.40 ,
can it fravel in on@ Chocolate Chip are § for $5.15, a UN IT

Blueberry are 12 for $7.32. Which

A 1230 feet B 5.125 feet type of muffin is the best buy? [Z.f\rﬂ = '
(C 307 Sfeet DB82feet ¢
T L A Apple Crisp B Chocolate Chi

St 15!

22, Fach week Jackson dnnks ihree 200mL bottlies of Gatorade. How mony Es’fers of Gatorade
does he each week?

A 60 liters ¢ i ’B 0.6 liters C 0.2 liters D20 Il’fers ! ;

RS

!j 1100 vl JEML \DODWB@
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Pare 2
percents

1. The graph represents the favorite candy of the total 32 students in Miss Levy's 7 period.
Which statement is best supported by the graph?

/ More students like Reese's than M&M's and
100 Grand's combined.

(2) ;;@“ SG%%':?S ?

Less than 16 students soy Sk[’rﬂes dre their
favortte. ¢ 1 ¢ { N j
The difference between the number of )
w37 students that say M&M's are their favorite and ..
~32 the number that say Reese's are the favorite ié le -

Exactly 8

heir favorite
ndy.

2. There are 24 students in Jake's class who have brown eyes. This represenfs 1he 75% of th
students in the class. How many students are there in Jake's class?
g;;w

cC18
3. There were 72 light bulbs delivered to the hardware store last wégk. if 12.5% of the [:ghf
bulbs were delivered on Monday, how many light bulbs were delivered on Monday?

: C@ )%

A 36 830

o
A 24 C 3.5
4, Dondra is buying a cell phone that has a 5, Montana earned $50 domg chores
regular price of $150. The cell phone is on around the house for one month. She
sale for 25% off the regular price. What is the wants to buy a new pair of shoes that cost
sale price of the cell phone? $48 with 8% tax. How much more will she
,;1;..:: " 25 0?9 need to buy the shoes?
/A/$37.50 $25.00 - . A $86.40 B $3.84
/@"‘$187-50 (%}1 12.50 = /\] } JD \f_; C $51.84 D$1.84

\Z20— 37 ‘Zﬁu = HZ %::)O

4. You go to the mall and want to buy a shirt for $14.50 and a pair ]4‘ @ O r
/594 a.7.5% sales tax rate on clothing. If you give
$55 oW much change will you receive?

49.001+ 2
b — 155,

of jeans for $35. The
the sales associat

Sew D

35 = 4990
|
)

M

//MB‘&,
e




7. Jonathan wants to purchase a new flat screen TV for his
Super Bowl party. He found one at Best Buy that cost $200 but

it is on sale 25% off. The sales tax will be 6%. How much will

Jo@thon :ay for his new TV¢ ‘/ﬂ) [;)( ............ (/{
A$ 225,00 IVCUW!’ 715.50 SR
/e’$67500 3 40.50 Arlo. .- (lﬁﬁ

e pvic e GID() //F“’ o1

8. In the Stoneridge apartment complex; 25% of the apariments
have two bedroom. If there are 18 two-bedroom apartments, what
is the total number of Gpan‘mem‘s aft Sfonendge?

A18 TTTTTTB4S5 {g ‘j \5} 5

C 180
.,.,.«{ Z \fv ‘ {3 A, \, |

ays-Ricky was present 95% of the days. I

bse”% V20~ 171 -(&O W TO

9. The school year was 180
How many days was Rick

| dayd 4 ) 1]
10. lan earned $70 babysit mjond W fs 16 buy a skateboard

with the money he eamed. The price of the skateboard is $68 Yy
and the sales taxis 8%. How much more will he need fo buy the 3¢ gél#,g;-r g :

skateboard? ol ﬁ: — 17 A I Mi et
w{iﬁ%ﬁ%) AT e w oo

11. The fable below shows the price of sandwiches at a local deli.
Samantha orders. Ofoepsi beef sandwich, and Dedck orders d

chicken wrap. GLls 6% md they want to leave (g 20% T@

Use estimation to determine how much the iotal willbe. 3 }’ Lj -
Sandwich Cost &,ﬁ\% 15 # B ]9} T e
Turkey Panini $7.89 © $25 L $18 \ ij[ (, ®
Roast Beef $7.49 T 7 / L EMLS

Cheese Melt $6.29 s ,{j}{ | -
Chickenwiop |36 A27L |5y 5|8 3. 207

12, Fred applied a total 01! mycrds of muich fo four different areas in ?he followmg
amounts.

. ] 9 cubjards in the red-rose garden I I M /
« T8 cubic yards around the fress : P s
s 32 cubic yards under the swing set o ey

« 21 cubic yards in the yellow-rose garden ( S}O‘) W / UD\

What percent of the mulch did fred apply to the red-rose gardens?
((An.2sn B0.1125% C 9% D 80%

‘?\




13. The local chess club has 60 members. Twenty four

of those members are younger than twenty. What ) Af y 1,}0 ,7
percent of the members are younger than 209 mj_%}? e A VY A

§) 0% BL&OT  CY60R D% ( UJ 0w o

14. Shetry opened up a savings account with $5000 on / o/
her 21¢ birthday. Her balance at the end of last month f A ‘%ﬂ /OO _}{ g(/}, Ve
was $4200. What percent of her money is stilt in ihe bc:mr8 X i e
’.ﬂ 'ﬁ{“ w0
A) 82% B} 16% D} 10% )

15. 1t sales tax is 9%, how much would your final cost be
on a shirt that retails for $14.

$126 B} $1.56 $1526 D) $15.56 w . IUD o
P TITG S

16. Craig left the waitress a 20% tip. If Craig's bill was T
$34.50, how much did he leave for the waitress? [? qo o 206/0

A)$1.73  B)$3.45  C)$2.00 %’70 H}D

17. Mark, Paul, and Jeff went 1o lunch. Their fotal bill was $46.89, not including sales tax. If
sales tax is 7%, how can they find how much each person pays IF they split the bill evenlty?

A) Find the sales tax by dividing $46.8% by 0.07. Add thal amount $46.82, and then divide the
total by 3.

@Dﬁnd the sales tax by multiplying $46.89 by 0.07. Add that amount fo $46.89, and then %
ide the fotal by 3.

C) Find the sales fax by dividing $46.89 by 0.07. Add that amount to $46.89, and then ../ O 0 ]

mulliply the total by 3. [0 O )(

D) Find the sales tax by multiplying $46.89 by 0.07. Add that amount 1o $46.89, cmd then
multiply the total by 3.

‘\
18. A radio manufacturer says that out of 800 radios \/
produced, 40 are defective. What percent of the 4 w 0/0
radios are NOT defectlive? e uD W}O . J_

s @ how oeor SOOI |00

WO W (oo







2™ semester exam Review 2014

pare 3

stabistics and pata Representation

I. The manager of a movie rental store checked the prices
at other stores and found the following prices for renting
movies. How much should he charge for the mean and the
mode to be the same?

$4.00 B $4.50
$5.00 D $6.50

Movie Rental Prices

Store Price
A $6.50
B $4.00
C
D . $4.50
£ $5.00

The number of times Pam worked out using her Wii Fit over 6 consecutive weeks during the

School year is shown.
4,6,7,6,25
Which statement about Pam’s Data is true?
A. The mean is greater than the median.
C. The range is more than the median.

(B)The range is egual to the mean.
"D, The range is equal to the mode.

@Mork counted the number of times he text messaged his friends over the weekend. On
Giurday he sent 15 messages and on Sunday he only sent 7. Which measure of data can
be used to determine the varialion in number of text messages per day?

A Mean B Median C Mode @kange

4, Given the following stem and leaf
plot of math test score:
Math Test Scores (out of 50 points)

3 5.06.8
0,2,2,4.5.53.7.8,9
0.0.0

wWhat is the median of the dala?

A, 4 B..5
C. 49 (9?45

Televistons Per Family

9
. . X X
\5. Which statement below is NOT supported by the | \
ormation in the line plot? X X X
A 3 families have no TV's
B.J50% of the families have either 3 or 4 televisions |~ X x XX
.Zlof the families have fewer than 2 televisions l b b x X X X
3:30% of families-have no. TVs, ’,{;U g &]1 Y« x x X x
9 e 1 2 3 4
. 1 J Number of TVs

76100







Temperatures

) . - Dayofthe | - High -
6. The high temperatures for a one-week period are \Xleek _-Tém;‘j_er_é%we’("[f?)"
shown. Which of the measures of the data is NOT
Sunday 75
represented by 70°F¢
A.Mean & Median . Monday 70
C. Mode @ Range Tuesday 65
Wednesday 70
Thursday 72
Friday 68
Saturday 70
Mrs, Hudzietz collected the data from her 39 pd’s X x
Homework grades and displayed it using a line plot,
x X X x
7. What is the range of the scores? %@
x X X x
X x X ¥ y X
8. Without the “outlier”, what is the range of the grades? ’ZO < E { E I E } E E >
65 70 75 80 85 90 95 100
Homework Grades

9. What is the median homework grade?] ()

@Mr. Haksell bought 5 Ralph Lauren Polo shirts for $350.
er he bought another for $40. What is the mean cost

of all the shirts2 gﬂ p{j}?’

Using the line plot below, find the mean. 12. The number of times Pam worked
~ out using her Wii Fit over 6 consecutive
X weeks during the school year
X X is shown below.
10,8,2,5,6,5,
Which statement about Pam's Data is

ee
i » @he mean is greater than the

edian,

e 1 2 3 4 s 6 7 B 9 0 B. The range is equal to the mean.
U} C. The range is less than the median.
D. The range is equal fo the mode.

Use the box plot to determine the following;

13.The Lower Quariile | 75
14. The Median '5 [)

15. The Upper Quartile 5‘5{

16. The Interquartile Range_{ ] 8 25 36 44 60







~

17 A public transpartation company o ing da i
: pany tallected the folloving data concarning the rums . ; .
b Use public Lrensportatlan e a reqular bagis, Y data conceming the punser of pooplt ' 18.)  the graph telon siows Use nuraber of students in each grede at 2 middla sthoal

Student Popidat
DalyUse of Pub!icTraﬂsponation tudent Poptitation

(L(;}Q Q“m\_ Eﬁé {;{}

Boys

180 - Girls

Number of Peopice

Number of Studants

175 ]

170 |

W w8 3 5 a4 a4
N R A

g

ath M oh
Grade

CayoWaek

Which statement {5 supported by the data?
R f Which statement Is NOT supported by the information In the graph?

Jr Twlce as meay people use public transpostation on Monday than on Wednesday. B About 1,100 students attend this middle school
G Themediz o ; . 2 ' '
miedizn number of peaple who use public transpertation Is 450, G There are approximately 10 mose gicls in the 6th grade than In the 7th grade,
3 3 . "
;’:;; sfm use{ puskic transportation on Morday and Tuesday than o af cther @Abnut 400 boys and 400 girls attend is nicdle school,
Ng WEex, oy
1. There are approximately 13 more students ia 60 grade than In 8th grade at this
. The same nunber of people use public Wansportation on Satviday and Sunday = middle schoal,

as on frlday,

The stem-and-leal plot batow shows the nurmber of sik-ups :!'o‘ne by students in My, fruong's

gym class,
!

Sit-ups
Stem | Loaves
ilg 8 g
214 4 &5 H 8 9
312 2 2 3 4 5 8
41 2 2 5 5 5
510 0 0 2 5 &5 8

4 | 2represents 47 slups

Which statement is NOT supperiad by the data?
A Sixteen students did less than 40 sit-ups,
Qver % of the students did more than 40 sit-ups.
€ The same nember of students did 32 sit-ups as did 50 sit-ups.
1> More students did 45 sit-ups than did 55 sit-ups.
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geomesric Figures and measuremens

1. Molly measured an angle that measured 53°. What is the measure,
in degrees, of an angle thatis supp¥emen’rc1ry 16 the 53° angle?

o ° l 1 e
Cégz ?)?\17one of the above &\UV‘/[ @10 /Qr WEM’E', Z, © e i a \
sygmp e ] = Sym 85 7 oF mres /s

T

2. A triongle has side lengths of 90mn, QOmm cmd 90mm:""".
Which of the following bes () describes this ’frlongiez

A Right B Equilateral ff{ f’i/f s (3 8 7; G e
AT /ﬁm iﬁ" PERAW
C Obtuse D Isosceles ! . 2T
' 1505C /f( & =7
| (i WOt
3. Find the value of x in the parallelogram below., 4, Which solid figure cdn dde from

the net shown?
F. Triangutar pyramid
A 20° B11° G. Triangular prism

H. Recfongu!ar prism.-..
C 100° (> 110° J. Rectangutcrg\pyromld )
f? / )j ; ) a! } ; [}%‘ ; y{/; )--k]!/ f'\‘% }, ;’J . \ L
»L_':Lw.._, —140_ <[ sutrovncledd # JaRe
5, Finel.the measure of ong? KJL. 6. The top, front, and side view of a figure are

- ,, b orimainn i iven below. ‘
“ = X J ) EEE E@ H ]

R i [ E

G- €7+9% e

/\ Which figure matches these views?

ifly ol ol ol
C 41° D 52° B\OWQ@ OCLde

/Kf 80° 60° s0° 0 _a7100° 100 100°60° () 95°8 8 e 1000600
7 5l 01 purs. A-0b\vso 3 Ao =

8. A triangle has 2 angles that each measure 45°. Which of the following best describes the
tricngle?

AJ Right Scalene B} Right lsosceles C} Equilateral D) Obtuse Triangle




Use the picture of the classrooms for #9-10

9. Whof is the perimeter of room 102¢

10. What is the area of room 10372

20

11. Ginger picked out a new rug for her living room. She bought a circular rug and wanted o
add fringe around the edge of the rug, How much fringe would she need if the diameter of

gk

the rugis 7 feet?2 (Use #=3.14) gy

g ¥ i

12. What is the area of the 3 am
trapezoid? :
A. 247.5 cm? sem
B. 390 Cm-z 1 14 cm
C. 612 cm? .
. D.780 cm? 18 am
i - i aof L
13. The drawing shows 2 circles that share a common center point, (2) g . gg( i J

o i a0 RSP TR T i

Which expression can be used to find the approximate -
circumference of the outer circle in centimeters?

Srera o eseed e MATH CHART]

14. The Montgomery's are building a circular pond in their backyard. Find the area of the

yard after the pond is put in. g\ubh/a 0{{ /’W Wf: ¢ ﬂ/ IQP “/W
fwmy e adcet 08 e ;j Fels

25m

30m




15. Joshua wanis to mail a care package 250 iR
to our troops overseas. He has 45 in® of L/i—iﬂz o P
materials to ship. Which of the following Rz
rectangular prisms is large enough fo '
Js.s in
2in

hold her items?

Gin

16. The volume of the solid figure below is

648 cubic inches. The hieght is ¢ segare inches.
What is the area of the base of this solid?

{A }2 cubhic in B 5832 cubicin
<439 cubicin D not here

m& ba{zﬁf?

17. Haley checked a cylindrical beakgris 18. If the radius of the cylinder is 3 and
the height is twice the radius, then the

. . i
the science lab and found that if wds qull. formula for the volume is:

How many cubic centimeters of fluid Yemidins A YET +3%46 TN
in the beaker? g V=336 N

Q N A 2826 cubic cm c. v=3:33
— 8 118.4 cubic cm D P=7 36 ' h

C 141.3 cubiccm
: Wem [ 70,65 cubic cm

19. How many cubic feet of sand can be hauted in o
dump truck if its bed is 6 feet deep, 8 feet wide, and 10 feet long.

A, 480 cu. ff. © B, 240 cu. ft.
C. 58 cu, ft. D. 48 cu. fi.
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pProbability

1. Juan will roll o fair number cube numbered 1 though 6
and spin a spinner. The number cube and spinner are shown.

What is the probability of roliing

a 5 and spinning a C%

ff“ i
! L 5 1 !
(A B c> b= €
S 24 10 12 20 ! %
....... i v o fi
E if/J . e} ;/} /’i

2. Billy has a spinner that is divided info red, yvellow, blue, and green sections. He spun the
spinner 20 fimes and got the following results.

Color Red Yeliow?u Blue | Green
Number of Times 4 2 | 5 |9

Based on his results, how many times can Billy expect the spsnner o land ona b1ue§ec%1@n if
he spins it 60 times?.. -

A 5limes /f{f \\‘1 5 times C 25 iimes D None
fw
3. You roll a die 4 times. What is the probability of ,
landing on an even number all 4 times? ; @
T e .‘\ g
4 1 1 F i I /’/
O R - A

Identify the following situations (4 - 7) as independent, A, or dependent, B, evenis?

4} Youroll a number cube and If you get a 5, you roll it again. %/m
Yo
5) You toss a coin, then foss it again, and toss it again. /
6} You pick a card, do not replace it, and draw another card. é«'
7) You draw a red marble, replace if, and draw a yellow marble. f %
8} The Duggar family has 4 children, so far. How many
possible combinations of boys and girls can there be in the family?
Draw a tree diagram fo show all the help you. |
e /N S
E/__/‘é .‘; s r A { d ﬁ
H, ZA EEAY e S : f
/‘; / “%":, iy ” w’;/,. i 8 p‘ff “% %j:,, ’ { ) . b
A5 (. 5{’3 “};;'% (o b 7
‘ ' pr 4o E e




T R R ?‘*

9} A coinis tossed 6 times. What is the . y » ey o
probability of gem\‘ng hedds c;il 6 times? / /5 7 AT e A A 7
o A
/ ?W N
10} Robeti recorded-theresults to an experiment,
The spinner landed on orange -~ 6 times,
purple — 9 times, silver - 3 times, and magenta -7 ﬂmes

A

According to the results, what would be the
probability of spinning a purple, as a percentage?

11} Three number cubes are rolled. What is the
probability that ecch cube shows a 5¢

12} You have 25 marbles in a bag. Six arered,
5 are blue, 8 are green, and six are swirls. On the
f|rst draw you get a swirl morble h‘ 11 is not rep[c:ced

13) In a deck of 52 cards, 26 are red and 26 are black. P
Find the probability the first card will be red and the e K
second card is black if you do not replace the first card you dFOW?(}‘ b E

14} A bag contains 8 red marbles, 8 blue marbles 1 ( %
and 9 green marbles. If you do not replace ihe marbles +
after each draw, what is the probability of drawing

a blue marble, then a green marble?

15} A spinner is divided into 4 sections; " 16) Andrew will roll a number cube three iy Fyves o
blue, green, red, and orange. Bob What is the probability that he will roll
will spin the spinner twice. What is the number greater than 4 all three timese ;-
probability of spinng}ng red bgfh.%.ﬁmes? § 3 2 f E g
% ; E e N W e o %
; | ] < o H
/% }:f | /? - % . r -k | /;,; J ji \/j}j SF i
{ { § L7 | ‘
17} Vito has the letters ALAMO Wi enons / 7 \
cards. (e also has a number cube. What is / AL AIM| O
the probability that he will choose a card with ] i § |
the letter A and then roll an odd number? A — Y AN
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